
N = 1
  1 circle in a tetradecagon

radius =   0.974927912182
ratio  =   1.025716863272

density  = 0.983158339383
contacts = 14
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N = 2
  2 circles in a tetradecagon

radius =   0.493652404307
ratio  =   2.025716863272

density  = 0.504139779747
contacts = 5
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N = 3
  3 circles in a tetradecagon

radius =   0.454819312439
ratio  =   2.198675325894

density  = 0.641914975876
contacts = 7
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N = 4
  4 circles in a tetradecagon

radius =   0.406873105275
ratio  =   2.457768741744

density  = 0.684946130985
contacts = 10
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N = 5
  5 circles in a tetradecagon

radius =   0.362829076902
ratio  =   2.756118689657

density  = 0.680851863728
contacts = 11
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N = 6
  6 circles in a tetradecagon

radius =   0.328822678438
ratio  =   3.041152771910

density  = 0.671047455716
contacts = 11

 E.SPECHT &
D.A.PATERSON
07-DEC-2020

N = 7
  7 circles in a tetradecagon

radius =   0.325805629975
ratio  =   3.069314671071

density  = 0.768588121139
contacts = 16
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N = 8
  8 circles in a tetradecagon

radius =   0.300256863661
ratio  =   3.330481734234

density  = 0.746026635144
contacts = 21
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N = 9
  9 circles in a tetradecagon

radius =   0.271660289557
ratio  =   3.681068004563

density  = 0.687026179638
contacts = 18
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N = 10
 10 circles in a tetradecagon

radius =   0.258000683320
ratio  =   3.875958726670

density  = 0.688525724570
contacts = 21
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N = 11
 11 circles in a tetradecagon

radius =   0.250126183990
ratio  =   3.997982074676

density  = 0.711851588502
contacts = 19
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N = 12
 12 circles in a tetradecagon

radius =   0.244457938076
ratio  =   4.090683280204

density  = 0.741767828048
contacts = 19
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